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1. Which symbol represent the engine? > A

a. b.
2. —iKE L% 120km/h, 9h-19h, [ ILAESE 22: 00, FHAEZ/D? >130km/h
3. When you drive on a rush hour lane, is the same speed with other lanes? = Yes.
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4. Does it include “electric bike”? = No. Electric bike = bike.
5. Which sign means that you can not go straight? > B
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A B| One way
6. BN 7 AT, a2 pedestrian |, BUAREW T EATS) 1o RAHDME, 2
BIRN, ik,

21-08-2014 Ef5

1. When the heavy car and a small car stop, which one has a longer stop distance?

Heavy car
2. Diesel 1%, Z AR —IK, 1jr,2jr,i&A2E 3jr? 1jr.

23-09-2014 Ef5

1. What is the correct sequence for the following situation? Car, bike, moped
A

|
4\

Moped EE—

Je)
a)q

2. % WME PR, ERAMSXERKE, 2EATF, REEAM? Stop
/\

Car

3. TIHME—/N/2 warning light? O é& E= AR

4. R TE, REEAM? Aswitch on headlights B.slow down C.switch on rear fog
lights. 1% B

5. Fri& D6, MIRBETS 46 ? No

6. TRHIZEGIAE, IRkl IR, EEMEBLT? Yes

7. bk, (RMERIFER I, AR AR T, RE A
A PUEEEE, JFE. BIMEE/GE, RJEHE. %EB
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kﬂ N
8. H 'i K EAEX, #ERTLUFH whole width of road? A.all the drivers
B. Pedestrains % B

oA o A B IR AR
1. @Xueqiugiu: 2012-10-26 (ZE4£XY)

http://bbs.gogodutch.com/forum.php?mod=viewthread&tid=606517&highlight=2012.10.26

IAZULT . ZMULESHBERE T, RAJINERS

o RERTEHEKR, —Eik# release accelarator. (brake £4TH)

o FAERR MK VLA /NEBUE, —EI%EFF brake

RERBEANGREB I LR EARMREIIEIL T, FEAHRIELSE release accelarator
o VEBEERATA indicator,iX N H 2 & 1R B
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1. sign K13 f+4 = . direction to the districts of the town

2. which sign is relevent to the engine temperature?-—- KX H OO A B E — M. EFSE T Hits, —
/& cruise control, —/M& engine temperature

3. 52 outside build up area(H2)+priority sign (B1), il Z%BAMA E#E F, WX EA L ER
ANA? —ja. IXEANEE park, [HZ A LA stop. X BARUL—F, —EEE S stop Al parking 7E
P2 G0 2R . AN EERE

4. sign E5 & E7, I MRERT L E T A, &% both. X B AEE park, (HAS AT LLE A, KA L
RPN stop

5. FE NBEEZEDMEINMMNELER AR ST TS, ibALE? A ZilEgeaE
NEE LR AERIN . WER AR — N NARLER R B, ANEAL, A 7R A 2
WHERIN T

6. SHARK TEETH A1 PIANO LINE. W5~ HoAh DRIVER. -----SHARK TEETH

7. 05— T FHOELE, M pre-position FIA B - FEIEH k. FoViX/ANEH B & AT
PEbR, RS UL WA B, XAEOL T EZAEN L, gk HEL

8. —7 bus EH Y, ibALE? —-XAMEH FEEEEF TG ZLE build up area I& /& outside
build up area. XX H &AL, FNHE AR H2

9. [l —> stop sign, REAH, FRA AT ANHRAER —4%8 L EEAT, EARE-—
Ja. iTikEAT. XHEFE: WRXMIARMBRAE KK L, WiteReRENE, i
TERCE RS BT S, i AgeLl, [N stop sign R il driver, AilAT A

10, FEFiEKE, HamHEIFahkar---k 3 Y Erihdkdr, AESERERTIEAK T Hik
11. A% lane #8/2 HAT, AL LA lane, @A — € EH# lane--—ja. EHE4T lane 174
12. [d] sign D5 {14 = 8 ----must follow the direction


http://bbs.gogodutch.com/forum.php?mod=viewthread&tid=606517&highlight=2012.10.26
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13. JE R 25200 a B30 b L JIANGF ¢ both - 1% both

14. FRIHEH, a WO b RIEH S %4 -b

15. comprehensive insurance fig cover {14 - X 75 F1 H CL#SHE cover. Comprehensive 4K
e ATTHIW, 4RERAL. iR H A2 third party insurance, Bt R fiE cover X177, ANfE cover H .
16. RZ N#FER] T, — A%\ parking place [FIZM# 4=, [IZEES W4T R a A1 b BEAS 4
H JEk------both

17. WIEERE L, XMk T —NKRRE, RWABNERBEARTR T, TN ZMAA4 .
a INST b PRFFIEEEE ¢ JliE--—-c

18 FREFRIE b, HAABHYG MM I [EE R, FAH44T----dipped light

19 tunel BT, F main beam, A] DL A4 ------ no

20 y JRARIIREE 1, RAEH B, AIK 7 —4> LIGHT MOPED, JRZE b Al 4 ------YES. ANV %
A2 FER, A E % Equal road, ik A14H)

21 RIRSUR EZ R ---1.6mm X FIRIZANEE, HEERPLRIRK

22, YRFi%E— trailer, 1F out side build up area [¥] normal road |, [k & £ /b 80km/hour
23, ERZAA#M a HOERKE b R cihEA-—b

24. motorcycle+sidecar, B AT A Z A 1RZ ANAKI side car AT AFET, HSZHE A& R E Py R
MEEFE L Z T —ME, ATRLEAR— A

25. e AT lap belt A LLA-—----nee

26. —MPEFEEE, RGN DUl 1, 2, 3, 4, XFELFRR) FRAE 3 B2
4, 1 K% moped, HAHKRELLM R, FibAE----Ja. BFOVGRZE BT, Gk,
B R EL, WAL CREBEENME) 3 B, AFEEAER RS,  mah
K211k

27, B E—EK, WATIHA —WEATE, SR —NKRE, WIREAE---- drive at walk
pace. WHl ZIR/E BTG IHMEEF, AEH horn

28. PRIN1E T IR coach, BT L%, WEA T8 AT 2, AEF T KRS coach
TEAE, X FE A BRAS A8 18

29, — A, (BBRETEF P& 1, 2, 3, 4, XFEGFAE) RAE 3 HATIM 1 HF 4,
ReE B — MR BS(l 2 X A1 2 SR EG L), 1 Hk—A tram E 2 2,

30 #HSHP road mark, — N E—AH O EWIEL L

31, — MU E A LE—AF gin W9R & &b -----nee

32 —ANT RN, RELH:, WEANELLA DRI EFE-——--Nee, N %L, FARESLL
33 — equal road, [F]#ESGE -————-IX ML I £ LT . 25 st il A 1 KkAS driver
34 {ELEMII TG B, EibyE-—-—-1EFTH B road user. (driver+pedestrian) . 2% fit /&
ik movement, 1EFTE A

2. @neona: 2012-11-23
http://bbs.gogodutch.com/forum.php?mod=viewthread&tid=618095&highlight=Utrecht%E7%90%86%E8%A

E%BA%E8%80%83%E8%AF%95%E6%9C%BA%E7%BB%8F



http://www.gogodutch.com/space-uid-6274.html
http://bbs.gogodutch.com/forum.php?mod=viewthread&tid=618095&highlight=Utrecht%E7%90%86%E8%AE%BA%E8%80%83%E8%AF%95%E6%9C%BA%E7%BB%8F
http://bbs.gogodutch.com/forum.php?mod=viewthread&tid=618095&highlight=Utrecht%E7%90%86%E8%AE%BA%E8%80%83%E8%AF%95%E6%9C%BA%E7%BB%8F
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T 5 HI
1 # EA—ARER: A%

2. k30, FESIEB KB LR RELR, SUEHERREM: N4
3.7 B RS AR
4. FEXRANEEIN A RS, W5H80, WA EMRAEZ44: do nothing

5. TR IREAE, W30, AUNTE LA EEWEZ T, BEEL D, RERME, FA
BHEL T

6. IXIE Mz ANE: 1ERRAN, AREREeoHIA R, LiI—WELBEIRELCEBIEAE, MinE—i
ZERR B ME30K . FRikHrelease gas. A HIiE FIIA AT AT HIA— FIE,

7. NER, BITRAE, FiE20, ikrelease gas

8. il LARE A HE, IiE60, FKiLHIdo nothing

9. &L 4hsingle carriage way LA 25 1, R GHA0: R4
10. 3 X % E S, RIETIE20, Rk K release gas

HRH 4
1. fEH A TS B N R E 4 busil-#%? a. Only inside build up area b. Only outside build up area c. Both inside
and outside

2. TEAT A5 N R 7E M 7 JL.Brommobiel? a. Only inside build up area b. Only outside build up area c.
Both inside and outside

3LAREMNIN B, SO HTEE FAETE. MREEELSBETELLE. Yes
4 R Htram, BRE FE (KHisland) o REBIStram(B2 S FELEIT ALK ? Yes
5. R G HEE — Ptrailer, FEHMEZEHCTER, MARZEREXFE F®K? NO

6. 1AL L EWELBE, WNHBAWHE. HRHESAEREMNGER . XEELAANPIPLE B2,
L both cars

7. VRISAE Rk BR R LR RIS EA R L, HRE S DA EIHRITHAIT. NO

@
8 T , REEATADA AT A AR R EAT A, NO

9. %I (SR M URBEAN REAT T RIENMEFE. NO

10. B2 ) LR AERTHE, AR A RHEZEE Hairbag. A. When baby faces the front B. When baby faces the
back

11. What is the right tyre tread? A. 1.6mm B. 2.6mm C. 3.6mm

12. What is the following distance between you and the car in front when driving 120km/h? A. 1 second B. 2
seconds C. 5 seconds @il H M ASK LU 2 H OB R, WA R ERE X IANESE 1)
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x\ﬁ 4
14. mf BIEAE, ARFE RO PRGEIE . AR A0 R AR AR M BEFE R % B4 717 a. nothing b. move to
the left c. move the right

15. B A AR IHE30 1, iR Ak Aerf? NO

13. FJEAF X AR BE 75 HF30km/h?  NO

16. Motoroad Lﬁ@ FMEZERIT B FR, RRBEARELF fEhard shoulder #2FE1. NO

Y (oL ond) AR

18. wyid L ARTE e 2L PR AT B, AL P Sk lane S MURAES — EIXFEATEE? NO
19. REEFHHIN, ANZ;, FIRRES 4105 MR 7K? NO

20. l‘ﬂ%\*ﬂ%—/l\sign R—~ 2 warning sign? =1

21. FREREE AT LI ? a. cruise control b. always drive at low gear ¢. & [ /2", IEAR EMiZ %

4

B. C.

99 A i) RN /£ one way road sign? 15 & EA

23. TN, R SRR S H F Ik (B) A, B. <mmm=

24, NMTIERTA —HH AT 4 Mmoped, MREEAREFZ? NO

25. 0] 55 KB 4 FERE R fuskidding? a. release accelerator b. increase speed c. use handbrake iX 2% % iR,
#A .

26. R —HM T dutch gin FOERE & & —FEA?  Yes

27. B AOG VNS R, AR b S R R B S OB I B LR B e ik

28. AR 45535 T A LLZE IR A# Fdmain beam? A. never B. when main beam is used in a funeral
procession c. & J 2ft AT, RIEAZIEMESR. - o FKEMA

29. PREE N b AN SR () O A i, RIS SIEeRT, MARZEEAZLLEE? NO - BUNASZ H O

30. +FHOH : , IRERBEFLZ-AEpriority road I, EH2MT N, IREEL;, BILELE,
T AR g WIERINY: IR, EEFE, ATA
31. R DARTEA T8 LR R AE S WA IIE R 2 FRIERINO

32. IXTERE AN WA, FNIEE R R T#A — AR,
PRUES M SIS, FIHAAMRZE. HAR:

A TFRIRZESZAR lane A

B. HL ¥ Ellane B

FILEIIA, BN & R EARE— TP IE IR




